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[Participant ID

Participant Name

Test Center Name Shankara Institute of Technology
Test Date 02/02/2021

Test Time 3:00 PM - 4:30 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.
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ans X 1. 28
<2 32
<3 22
v 4 20
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9

32
29—

17

Q1 R v et F TAEF HeTTS F{ 3T T 0 et F ¥ 39 d=w 7 v F, S zwd
ITIE (?) & T 9 HT Tl 81

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489115383
94891121529
94891121532
94891121530
94891121531
Answered

4




2 s wfaurE F Al UK F F Fol hder WA R ar?

Ans

X112 3g

X2 23]
X3 2 a3¥

9 FET 3T 10 fB=
10 =T 3T 17 &=
7 7 3T 17 R’e=

ve2oag 1M k17 '=E
Question ID : 9489115128
Option 11D : 94891120512
Option 2 ID : 94891120510
Option 3 ID : 94891120511
Option 4 ID : 94891120509
Status : Answered
Chosen Option : 4
Q3 of s & wEE & 70% Fr gy F S §, sEH SiEE F fhaw wfovd (Feeas ot @)
Far Fr S wige, TfF FEE e AT ®?
Ans - X 1. 60%
< 2 58%
v 3 59%
<4 61%
Question ID : 94891112864
Option 11D : 94891151455
Option 2 ID : 94891151454
Option 31D : 94891151453
Option 4 ID : 94891151456
Status : Answered
Chosen Option: 3
Q.4 AT WfauTs & fFE et # aeiiE 3ate AaioeR w1 SEue faar w22
ans X 1327
< 2 325
< 3. 329A
v 4 326
Question ID : 9489115136
Option 11D : 94891120542
Option 2 ID : 94891120541
Option 31D : 94891120544
Option 4 1D : 94891120543
Status : Not Answered

Chosen Option :




Q.5 x 3Ry & 989 (LCM) 2079 ¥ 3T 3aer A.@.9. (HCF) 27 &1 IfE x = 189 &, aT y & AT #

Eaie|
Ans X 1. 267
X 2 197
V'3 297
< 4 167
Question ID : 94891112850
Option 11D : 94891151398
Option 2 1D : 94891151400
Option 3 1D : 94891151397
Option 4 1D : 94891151399
Status : Answered
Chosen Option : 3
Q6 v dpm Z =f3ar (A Passage to India)’ ATHS 39UTH & o@F HiA &7
Ans : : .
X 1. @ °r stadr (Nirad C Chaudhari)
V2 g TH BrEeT (EM Forster)
< 3 =TT FTEer (Gunnar Myrdal)
X 4 HIAT IEAS (Aziz Ahmed)
Question ID : 9489115108
Option 11D : 94891120429
Option 2 ID : 94891120430
Option 3 1D : 94891120431
Option 4 1D : 94891120432
. Not Attempted and
Status : Marked For Review
Chosen Option : --

Q.7 «of w=frar R, 3w, R, dar skt & & Bewt e sweaw R B g B, 3o =8 R

= T ormer aig | o, 3uer 50 R @ ) 3 e et & ager 3t 3w e o A o
7w AR far & @ & & AfFwT of o o ee gew 3T & 3ueaw R

we X1 R

v 2 g

X3 e

K 4 FET
Question ID : 9489115380
Option 11D : 94891121517
Option 2 1D : 94891121520
Option 31D : 94891121519
Option 41D : 94891121518

Status : Answered
Chosen Option : 4




W faem F gER o A& T @ 32

Ans

A IET
X 2 RS
X 5. et
v o e

Question ID : 9489115124
Option 11D : 94891120496
Option 2 ID : 94891120494
Option 3 1D : 94891120495
Option 4 1D : 94891120493
Status : Answered
Chosen Option : 4

Q.9 =z 5% ¥ 7% dEw AT HifET, BrEw 13, 26 3 39 Fr FanfEg == W FA: 1, 2 v 3 O s=Ar
&7

Ans X1 6
X2 4
X3 2
V12

Question ID : 94891112849
Option 11D : 94891151393
Option 2 1D : 94891151394
Option 31D : 94891151396
Option 4 1D : 94891151395
Status : Answered
Chosen Option : 4

Q10 svg & SureE ZERT TEw Fiere T B F R ww G @ ar?
Ans X1 2013

< 2 2016

< 3 2014

v 4 2015

Question ID : 9489115142
Option 11D : 94891120566
Option 2 ID : 94891120568
Option 31D : 94891120565
Option 4 ID : 94891120567
Status : Answered
Chosen Option : 4




Q11 o= w27 3R 30F @15 & 7% v v §) 90 % = ¥ FT ¥ 9F T F @ F v
g9
FT AR F A9 T U ge-TER F A oW i TR
o
(i) &, =8 TE & T Tea T WS TF Tl aae GEdt e Fefad s & saaeh g §
(i) &, TE-TFR F el T==t # 3= THR A4 TE F
Al " .
* X FES FF () T &
v 2=t & 3% TT 2
X o FIE o TF T T g

K 4 Fad T (i) T 2

Question ID : 9489115381

Option 11D : 94891121521
Option 2 ID : 94891121523
Option 31D : 94891121524
Option 4 ID : 94891121522

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q12 g 42° — 1227+ 14a—3 37 220 F FenfSg sa T 99 21 aT97 A9ES AT HIST

2

Ans 2

Question ID : 94891112867
Option 1 ID : 94891151465
Option 2 ID : 94891151468
Option 31D : 94891151466
Option 4 1D : 94891151467

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.13 ve wy & 9 A, 7 w3t 5w A § IR v aw A 2 S @ Feren Far §, o e v &

T F Wirg g T TR AT STl
Ans 1
K —
14
7
X2 L
14
7
y (P
21
7
v —
15
Question ID : 94891112873
Option 11D : 94891151490
Option 2 ID : 94891151492
Option 31D : 94891151489
Option 4 ID : 94891151491
Status : Answered
Chosen Option : 3
Q.14 18 T 45 vF F F1 12 &7 F 07 = THa §, T 24 Ad-FAE A F =0 S S Q07
FGT &g 15 T &1 T o §1 12 TS AEE F 4F i § A 398 § 3 $0 A 98 a1
TiEt T w1 #| F oieR 9 AT 39 3 Fee A & T W e g siEet @ e
™ TR ST AR, A w1 A el wew & O B e e
Ans X 1.6
v25
<3 4
<47
Question ID : 94891112856
Option 11D : 94891151423
Option 2 ID : 94891151422
Option 3 ID : 94891151421
Option 4 ID : 94891151424
Status : Answered
Chosen Option : 2




Q.15 g Swer = 3% Uroeligde, $eiEC U Hal (The General Theory of Employment, Interest and

Money)' #TH& JEF & o i 67

Ans X1 3f3= Rl (David Ricardo)
X 2 F3H A (Lewis Carroll)

X 3 §g 3k ST (Harrod and Domar)
v 4 ST BAE FeF (John Maynard Keynes)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115125

94891120498
94891120499
94891120500
94891120497
Not Answered

Q.16 ey T r =melt T I 2 0 3 ;4 B| §9 FRI GAN @A g0 99 S A BT S aer @ @

FH: IS Tt grm?
Ane K1l 2= ]

v26:4:3
X36:5:3
X42:4:6
Question ID : 94891112854
Option 11D : 94891151413
Option 2 ID : 94891151416
Option 31D : 94891151415
Option 4 ID : 94891151414
Status : Answered
Chosen Option : 2
Q17w o Yt #1 UETES WIS S AR v v et # ¥ 3@ gea & oana wY, S sw
qIATIE (?) & T 9 HT Tl 71
7\ 126 /9 6\ ? }s
2 5
Ans K1.126
<2 320
X3 177
v 4 240
Question ID : 9489115399
Option 11D : 94891121596
Option 2 1D : 94891121593
Option 31D : 94891121595
Option 4 1D : 94891121594
Status : Answered

Chosen Option : 4




Q18 Grmfafem # & B9 2018 # oify & B AT R § FFAg B o o
r
Afgar 7S (Nadia Murad) 3T 3meiy of¥ar (Arthur Ashkin)
2
s FFa=r (Denis Mukwege) 3R @1fear #UE (Nadia Murad)
X 3
HIRX UR¥Fa (Arthur Ashkin) 3T Sl & 789y (George P Smith)
X 4
2@ &= (Denis Mukwege) 3T 3T TRe&aT (Arthur Ashkin)

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489115104
94891120414
94891120415
94891120416
94891120413
Answered

1

Q19 R v Yef T WAES 3T FY AR T v et § ¥ 3w gEw 7 9w 71, S omd
TeAfIE (?) & T 9T 3T e B

AL
\VAVAVAVAY%

Ans x 1.3
X2 2
<38
v 4

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489115403
94891121609
94891121610
94891121611
94891121612
Answered

4




¥ R A A B G F S A

Ane X110 arder 1932
<210 fagesx 1932

X< 3 16 fegeT 1932
V& 8 3FET 1932

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115132
94891120528
94891120525
94891120527
94891120526
Answered

4

a2 SR DI Jelee hE a¥ ow g3 o

Ans 11922
X 2 1935
V'3 1942
X 4 1940

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489115117
94891120465
94891120468
94891120467
94891120466
Answered

3




Q22 ‘qurerar e A Fr R AT F Iy F IH T P @ FUF T 2
Ans X1,
I FRIATRGT FF 75 F9R T dax 15 A o & HOT
<2
BIC FIETAT FF 25 TR A HT 5 oTF TF & FHOT
X 3
I FRIATREAT F 35 g9R T s 7.5 &g d H HOT
2
BIC FETAT FF 50 TR T IHT 5 oTF TF & FHOT

Question ID : 9489115143
Option 11D : 94891120572
Option 2 ID : 94891120569
Option 3 ID : 94891120571
Option 4 ID : 94891120570
Status : Answered
Chosen Option : 4
Q.23 gfear T HEEfeaa HIwe 2020 (women's doubles Australian Open 2020) frmer Sfrar?
Ans x 1.
Ao SR (Gabriela Dabrowski) 3T #T 913 (Mate Pavic)
~< 2
HATYT TEET (Samantha Stosur) 3T =T &;raqé (Zhang Shuai)
\f 3.
ST I (Timea Babos) 31X FEET somgaifas (Kristina Mladenovic)
r
frEéaT FeAITas (Kristina Mladenovic) 3T F0fers anfaar (Caroline Garcia)
Question ID : 9489115107
Option 11D : 94891120425
Option 2 ID : 94891120427
Option 3 ID : 94891120428
Option 4 ID : 94891120426
Status : Not Answered
Chosen Option : --




Q.24

afg

1

FT #7 0.0276 &, ot —

0.0003618

& AT AT HifFT

36.18
s X1 276
v 2 2760
< 3 276.0
< 4 2760
Question ID : 94891112846
Option 11D : 94891151381
Option 2 1D : 94891151383
Option 3 1D : 94891151384
Option 4 1D : 94891151382
Status : Answered
Chosen Option : 2
Q.25 frafafaa & & e af &, Agrren e & seuwon # ag vers fhar o o7 % sue W @
AT fafeer U1 gaT i IHe A0 W Ue U9 WREE & A@eaH O ofid gene
Ans X 1. 1855
X 2. 1856
' 2 1858
< 4 1857
Question ID : 9489115118
Option 11D : 94891120471
Option 2 ID : 94891120472
Option 31D : 94891120469
Option 4 ID : 94891120470
Status : Answered
Chosen Option : 4
Q.26 ¢
ST & SIGIUT H gl AT T80T e fohar ar?
Ans
X< 1. 28 AT 2005
X2 18 =T 1974
v': 18 AE 1974
X< 4 18 A 1975
Question ID : 9489115130
Option 11D : 94891120517
Option 21D : 94891120519
Option 31D : 94891120520
Option 41D : 94891120518
Status : Answered

Chosen Option : 3




Q.27 12 =feq 12 &g & Heg @ TF O # 4 G F 9F w wed £ 8 wHT 8 Wg A Ae@ ¥ IW w
= o Re & e = w2

Ans x 1.7
<21
v36
K45

Question ID

Option 1 ID

Option 2 ID

Option 3 ID

Option 4 ID

Status

Chosen Option

194891112861
1 94891151443
1 94891151444
1 94891151441
1 94891151442
: Answered

1

Q.28 o wrw Yoot 1 eAATES AT H AR fow v frmedt F @ 3w wemst & oTma St S s
SeETRES (?) & T 9T 3T HWeahdl 81

25’ 64 = 5; 8;13
1444 36 = 12:6;18
1214 81 =2;2;7?
Ans X1.12; 18; 30
X 2 WA
X 3225 7
v+11; 9 ; 20
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489115388
94891121549
94891121550
94891121552
94891121551
Answered

4

Q29 OECD (HFAEe SR RS P-HUA U5 S3eraaie) & FEIed el oud 32

Ans x 7 ﬁ., ? ?
X 2 @

< 3 g
v . ofg

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489115133
94891120529
94891120531
94891120532
94891120530
Answered

2




Q30 75+ V147 T AT AT ST

Ans
<1743
v 2 1243
/< 3 543
12
K4 —
V3
Question ID : 94891112851
Option 11D : 94891151403
Option 2 1D : 94891151401
Option 31D : 94891151402
Option 4 1D : 94891151404
Status : Answered
Chosen Option : 2
.31
Q31 Ffx cosf +secO=+/3 &, ar cos®0+ sec*8 FH AT AT Hi=T
Ans
<1243
v20
1
K3 —
V3
< 4 343
Question ID : 94891112870
Option 11D : 94891151478
Option 2 ID : 94891151480
Option 3 ID : 94891151477
Option 4 ID : 94891151479
Status : Answered
Chosen Option: 2
Q.32 g Efeuw ¥ 5 sgete & 7 50w § & Ts FaeE F e deet § FRRa
FETICH & TUF FIA §g HaH 361w?
Ans
< Hﬂﬁ}‘cfa 55
X 2 3eT=oq 25
X 3. HT=OE 35
v 4 3RS 50
Question ID : 9489115127
Option 11D : 94891120508
Option 2 ID : 94891120506
Option 3 ID : 94891120507
Option 4 ID : 94891120505
Status : Answered
Chosen Option : 4




OB P o I< (battle of Hydaspes)' fraa Siar?
Ans x 1 m

v 2 Bhex

X 3 37

FaSEA 0

Question ID : 9489115138
Option 11D : 94891120549
Option 2 ID : 94891120552
Option 3 1D : 94891120550
Option 4 ID : 94891120551
Status : Answered
Chosen Option: 2

Q.34 R e FuEr R FewSt # CAEEE ) FUA F & TE A F T AT g€ AR A, 0§
IF TS AT T ¥ e 9da 2 8 R 99w F e o et # w FiT @ wuEt &
afeF & § IeT w4 F

FUT

FT 3HE, O g
el ore, e
foreang

. m=fr 313, e &
. Fsfr =, 312 &

e g ar T | 3R F & ey || o & B
X 2 Faer ey | Oed T g
X 3 Faer frsed || 9o Far B
X 4 Trwy | At e || @ e =g 2

Question ID : 9489115376
Option 11D : 94891121504
Option 2 ID : 94891121501
Option 31D : 94891121502
Option 4 ID : 94891121503
Status : Answered
Chosen Option : 1




Q.35 @aﬁr#ﬂ,oooms}:awqtzaﬁﬁﬁ,ﬁuﬁﬁwwaﬁﬁ%wmg&naﬁtq&frw

15% & g %1 W @ AT G W ; A N Feeaw qUifhd # A Hifaw
Ans K1 2200 wTeT

X 2 7190 iy
# 3 3175 =meT
W 4 3184 gifer
Question ID : 94891112859
Option 11D : 94891151436
Option 2 ID : 94891151435
Option 31D : 94891151433
Option 4 ID : 94891151434
Status : Answered
Chosen Option : 4
Q.36 .
1fF W g e &1 798 F=r Sowaa ST @1 22
Ans
X 1. ST (Jog)
X 2 Tes= (Ribbon)
v 3 T (Angel)
X 4 IMEREAT (Gavarnie)
Question ID : 9489115126
Option 11D : 94891120502
Option 2 ID : 94891120501
Option 3 1D : 94891120503
Option 4 ID : 94891120504
. Not Attempted and
Status . Marked For Review
Chosen Option : --
Q37 The compound of a metal found in nature is called:
Ans X 1. slag
< 2 flux
+ 3. mineral
< 4 ore
Question ID : 9489115122
Option 11D : 94891120488
Option 2 ID : 94891120487
Option 3 ID : 94891120485
Option 4 ID : 94891120486
Status : Answered
Chosen Option : 4




Q.38 2019 & werasr & "feq S=fearer sUeTT Efteeyy HE fFTIT F1 seHE Fal T ar?

Ans X
1. HITTH T
3
X 2. FRroTHr
3. T
K o HES
v 4 T FAreer
Question ID : 9489115141
Option 1 ID : 94891120561
Option 2 ID : 94891120564
Option 31D : 94891120563
Option 4 ID : 94891120562
Status : Not Answered
Chosen Option : --
Q.39
FITRAeFT T FAT SHS (energy currency) T FAT Fgl T &7
Ans
X 1. TTHEYr (AMP)
X< 2 greaT (DNA)
< 3. AIRTAT (RNA)
v o T (ATP)
Question ID : 9489115115
Option 11D : 94891120457
Option 2 ID : 94891120460
Option 3 1D : 94891120459
Option 4 1D : 94891120458
Status : Answered
Chosen Option : 4




Q.40 37 37 MW FT IO w, I AR T9 F @ F o Hr FalcaA & ¥ OwT 5 &
Ans

v
X2
xs.
X 4
Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

: 9489115398
194891121592
194891121589
194891121591
194891121590
: Answered

1

Q41 o u # 3mEaT 324 cm® §, O Rt v aanr s o § e s, Sied s = wr
FINS 31 2 : 2 §| T Y wEE AT HC

Ans 1.9 cm
<212 cm
<3 75 cm
<46 cm
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID
Status:
Chosen Option :

1 94891112865
1 94891151457
1 94891151460

94891151458

1 94891151459

Answered
1




Q42 3 km &I T & 9T GHEAT & FNUT T YGRS F BT AT @ AF| FTS A TEHT
amﬁﬁmaﬁrzqgmﬁr%lsvmag%fmzaﬁrafrﬁqgﬂm%luﬁgémm km
T g% A, o 77 36 fAme 1 AW ¥ 7w @ A Weend i areafeF T A fifF

ans X150 km/h
< 2 40 km/h
/< 3. 60 km/h
v 4 30 km/h
Question ID : 94891112863
Option 11D : 94891151451
Option 2 ID : 94891151450
Option 31D : 94891151452
Option 4 ID : 94891151449
Status : Answered
Chosen Option : 2
Q.43 Fremor == & 5% e X W 8 FuF & T TR gwufr afivemar W 1175 @ I #1 oRfe
oy w9 HifaT)
ans of 13125
< 2 3120
< 3 7140
< 4 3175
Question ID : 94891112858
Option 11D : 94891151432
Option 21D : 94891151430
Option 31D : 94891151429
Option 41D : 94891151431
Status : Answered
Chosen Option: 1
Q44 53 fomeT =1 9uw B, oS U AT v TeE F vegl F AT o @AY §, S Gw AT weggiw H
oreal & & g
YoWmEr ;T
e X1 e =
X 2 T eI
X 3 IS TEeH
v oo RrgeT
Question ID : 9489115379
Option 11D : 94891121516
Option 2 1D : 94891121513
Option 31D : 94891121514
Option 4 ID : 94891121515
Status : Answered
Chosen Option : 4




Q45 7 11 13 1

S—= 4= —> F AT AT PIAT
9 12 16 g8
Ans 1 44
R
79
34
X2 2%
144
79
i -
144
150
X422
144
Question ID : 94891112848
Option 11D : 94891151390
Option 2 ID : 94891151391
Option 31D : 94891151389
Option 4 ID : 94891151392
Status : Answered
Chosen Option: 3
Q.46 zfy 20% fEufie & 50 L & v% 287 ferer & 10 L =7 fHemar omar &, & oo Rees & fiafe
FT iR fBraar gem?
Ans J 2
1 16=%
3
1
<2 12-%
2
X3 20%
1
< 4.33-9%
3
Question ID : 94891112857
Option 11D : 94891151428
Option 2 ID : 94891151426
Option 31D : 94891151425
Option 4 ID : 94891151427
Status : Answered
Chosen Option : 1




Q47 1991 H, TR F hEsr T A F-GUR WA F 7T B a2

Ans

<. BT FeeT
X 2 TEUA T
v o gET e
<4 T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

9489115139

94891120555
94891120554
94891120556
94891120553

: Answered

Chosen Option : 1

O fefE & & FF dwwsT F 7 TUER F7 s w=ar 87

Ans

Vv 1 TS

X 2. 3 TSI
A guTEEE
X 4 gty

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115129
94891120516
94891120514
94891120513
94891120515
Answered

1

Q.49 fy Fe et # W e &, fw o et F @ Wi W gd 39 vewmst F wA F oo

Ans

AT F FET IM?
X1 TH

X 2 AT FEATIT F UGS
X3 T

v o d BTt F UGS & A T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112866
94891151464
94891151462
94891151461
94891151463
Answered

4




0 FiET T 3Ea hEe v wfie 27

Ans

V't g arer ey
< 2 |TE
K3 g
K49

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489115112
94891120448
94891120446
94891120447
94891120445
Answered

1

Q51 R & @ w7 @1 e ST e T # ‘gl afFaal (Axis Powers)” F7 war om?

Ans X
BRCrCH
v 2 e
X 3 JUAT
X 4 FTH
Question ID : 9489115134
Option 11D : 94891120533
Option 2 ID : 94891120535
Option 3 1D : 94891120534
Option 4 1D : 94891120536
Status : Answered
Chosen Option : 2
Q.52 x famfr w1 #r 3 & S X 90T Y W &, oraer 9 @ Y 3R Z ve wyr e 3E w ar
0T T @ §1 X R Y ve @ FesT 36 #, Z W A I O § T oY @ee § AR ¥
At vw wry et 36 FE A 15 B F QT # Oed §, A1 Z #1350 e A QT e A
foraer R @@
Ans X170
v 2 60
<3 80
<490
Question ID : 94891112862
Option 11D : 94891151445
Option 2 ID : 94891151448
Option 3 ID : 94891151447
Option 4 ID : 94891151446
Status : Answered
Chosen Option : 2




Q53 wx gem &, x v y w$ e & Shaw, g o FEEn 60° 3T 90° F FoT AR Fr FI
TH UNET & ey H g4 ¥ HiF o T/ 27

Ans S x =2y

X2y=2x
« 3. ¥y= ‘\[Z’X
X4 y=+2x
Question ID : 94891112869
Option 11D : 94891151475
Option 2 1D : 94891151476
Option 31D : 94891151474
Option 4 ID : 94891151473
Status : Answered
Chosen Option : 3
Q54 gErHEIfReET RIETOT (Entomophily pollination) =18 & adr #eg & &iaT &7
Ans X1 grR
v Fre
X g
X 4 St
Question ID : 9489115116
Option 11D : 94891120464
Option 2 ID : 94891120462
Option 31D : 94891120463
Option 4 ID : 94891120461
Status : Answered
Chosen Option : 2
Q.55 mza #r 17 7wl Fr fEe 2020 F FYFT TST TASROT FEFH TS SH-AACT
(United Nations Environment Programme Tunza Eco-Generation) ZaRT &R & &5 REEG)
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is the only State of India where the Sangai deer is found.
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Q.86

Ans

The given bar graph shows the total number of air conditioners (ACs) of different brands, P, L. S, E and H (in thousand
numbers) sold by a supplier in 2018 and 2019. Study the graph carefully and answer the following question.
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Number gf%&)&s sglé%n thousands)
For which of the following pairs of brands was the total number of ACs sold in 2018 and 2019 together equal?
v 1 HandL
A2 SandH
/<3 EandH
X 4 Pand S
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Ans

=T | AT 9227 | Beal TS | 7o 9o | 9= | 32
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2015 | 320 400 280 450 | 400
2016 | 260 450 240 320 |350
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2018 | 350 430 540 410 |420

% 2016 AT 2017 & e 30T Woor § TfiaT F o7 A I O A F FEAr R Feow oA F

S8 F 0T A A B BT HA HEAT F HA AT AT

<185 : 52
V2 66 : 95
K32:86

<415 : 7
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2012 2013 2014 2015 2016
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oA Q8 QC
& o% 3afY & e RFE o F XYZ AR F 3cued § HiUean e i e f ae?

e X1 50% ¥ e gfr & wrr emar A F
V2 80% & T8 3 & @ em@T B A
<2 100% 3 & @1y om@r C H
X 4 FETSTET 50% FiE F @I o@r B H
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